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46 Identify the suitable reagent for the following
conversion. <fl
it :
0 ‘

M
©)kOC] 1 aly CHO

(1) () NaBH,, (ii) Q‘?'mzok
(2) H,/ Pd-BaSO K,
(3) (i) LiAH,, (i) FH,0

(i) AIH(iBu), (i) H,0

#

The correct order of éécreasing_acidity of the
following aliphatic acii_'d.s is :
(1) HCOOH > CH,CQOH >

(CH3)2CHCOOH > (CH,4);CCOOH
(2) HCOOH > (CH, ) CCOOH >
(CH3),CHCOOI-L> CH,COOH
(CH;);CCOOH >{CH3),CHCOOH >
CH;COOH > HCOOH
CH;COOH > (CH;),CHCOOH > ‘
(CH;);CCOOH ;FHCOOH

a3
Which one of the fd’llz)wmg reactions does
NOT belong to “Las§a| ne’s test”?

47

©)

Q)

48

m Na+ X ——A——> -hNaX

i

42Cu + CO
@) 2cu0+C —Tiﬁ?.(:u .

3) Na+C+N — NaCN

(4) 2Na+S Tg,azs

<

{3
If the rate constant of\h reaction is 0.03 s~
how much time does‘qf take for 7.2 mol L‘
‘concentration of the reé}ctant to get reduced to
0.9 mol L1? gl
(Given: log2 = 0.301)+

(1) 210s (2) 21.0s

@ 69.3 s (4) 23.1s

48_English ]

49

50 Given below are two statements :

Statement I : A hypothetical diatomj,
" molecule with bondibrder zero is quite stable x

yStatement 11 : Asybond order increases, the
bond length mcreasas f

In the light of the at{ove statements, choose the
most approprlate gnswer from the options

o

Statement | i¢"'ttue but Statement I

given below :

(M

is false

Statement I is false but Statement II
Both Statemegmtzl and Statement II
™
Both Stateme%gfl and Statement 11
W
™ !
\ ?“‘é i
Out of the following complex compounds,
which of the compound will be having the
minimum conductance_in solution?
. o
[ Co(NH3), |€ls
{3

@

is true

©)

are true

are false

sl

(1)

@ [Co(NH;); é}éq
~
4) [ Co(NH;),Cl, |

:s:q'bg
Which of the folloWing aqueous solution will
exhibit highest boﬂl?ig point?

@ o.0m NaZSQﬁ
(2) 0.015M C6Hlu?e
(3) 0.01M Urea
(4) 0.01M KNO, 3.

52

10 [ Contd-"
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53

54

55

Given below are two statements : one is
labelled as Assertion (A) and the other is
labelled as Reason (R)

Assertion (A) : /\/\l undergoes Sy2

reaction faster than g~ _~CL

Reason (R) : Todinefis a better leavmg group

because of its large éize i

In the light of the ab(ﬁ/e statements, choose the

correct answer from the options given below

: ':‘“%

(l) A is true but R is false

(2) A is false but R is true
Both A and R are. {rue and R is the correct
explanation of A&g

(4) Both A and R 4t2 true but R is not the
correct explanation of A

Y

oy

Con51der the follow1cpg compounds :
KOZ, H,0, and H,SOj.
The oxidation stated Stihe underlined elements
in them are, respectively, ,
(1) +1, -2, and +4
(2) +4,—4, and +6 <ft
+1, -1, and +6 SE

7 +2, -2, and +6 7
4 e
L3
Match List - T with Eist - II
ist- €3 ListII
List-I o

I. Fe catalyst

A. Haber process

B. Wacker oxidation 11. PdCl,

C. Wilkinson catalyst Il [(PPh3);RhCl]

D. Ziegler catalyst .4 IV. TiCl, with
s Al(CH3);

Choose the correct grzswer from the options

given below :
A-l, B-II, C- III,,J? -1V

) A-l, B-1V, C-IIED-II
(3) A-l, B-II, C-IV, D-IR
(4) A-II, B-III, C-I, D-I¥

@ leen below are two statements :

Statement I : leé nitrogen that can form
ammonia, arsenic cin form arsine.

Statement II : (Antlmony cannot form
antimony pentoxncfe}

In the light of the abéve statements, choose the
most appropriate’ 4nswer from the options

P
g

given below :

@ Statement [ is correct but Statement I1
is incorrect ‘
et
(2) Statement I isdipcorrect but Statement II
is correct . {¥}
{4
(3) Both Statemex;gt;,:l and Statement II
are correct g
i)
(4) Both Statemeg,til and Statement II

are incorrect -+

57  Given below are two statements :

Stdatement I : Ferro§nagnet15m is consndered
as an extreme form gf paramagnetism.

Statement II : Thc number of unpaired
electrons in a Crz* i1on (Z = 24) is the same
as that of a Nd>* ign (Z = 60).

In the light of the"'ﬁ}ove statements, choose
the correct answer from the options given

below :
@ Statement 1 isé.g‘,ue but Statement II
is false g

(2) Statement I isjfaflse but Statement II
is true ;;4.:
(3) Both Statemefff;l and Statement Il
A

are true ;
=

(4) Both Stateme#it'T and Statement I1
are false

11 ' [ Contd...
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Which one of the following reactions does

NOT give benzene as:the product ?

. |
(1) ' Bc=cy SolgHmaTube

e\§73 K

@ @-%ENG £0_>

ciL g%

' |
: 0
3) @‘&—OM Chiatime

) neheXanc 773@58 2.23) atm.
™M
59  Match List - I with Igs‘} -1I
: List-I =¥ List-II
A. XeO, ‘ﬂ sp3d; linear
B. _ XeF, I sp3; pyramidal
C. XeOF, III. sp3d3; distorted
. octahedral
D. XeFg I’ sp3d2; square

it

(j;‘; pyramidal

Choose the correct afiswer from the options

given below :

L

gt
(1) AV, B-IL, C-H DT ¢
(2) A-1V, B-II, C-1, DHIII
@ A-IL, B-l, C-1V, B

(4) A-lI, B-l, C-III, D-IV

Ky

60 How many products (in¢luding stereoisomers)
are expected from monochlorination of the
following compound?{>§

H3C
\CH— CH2
P

H;C
(1 5
3) 2
48_English |

—-CH3

i)
o

-~

61

62

63

12
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Which of the following statements are .

A. Unlike Ga thg?t? 9has a very high meltir;
point, Cs has ggvery low melting POint.

B. On Pauling s{c;ale, the electronegativit
values of N and Cl are not the sap, 3

ci=ar, K C.l"i,{éCe}z"", and S2-
isoelectronic species.

D. The correct order of the first ionizati,
enthalpies of Na, Mg, Al, and
Si is Si > Al Mg > Na.

E. The atomic radius of Cs is greater than
that of Li and Rb.

Choose the correct:answer from the Options

given below : 29

(1) C and D only}#

(2) A,C,and E cﬁgy(

(3) A,B,andE 6§§y

Cand E only“’«}

2-_»..3
The standard heat of formation, in
kcal/mol of BaZ" is : [

[Given : standard heat of formation of so?"

ion (aq) = -216 kg,al/mol, standard heat of
crystallisation of =

BaSO,(s) = — 4.5 ktal/mol, standard heat of
formation of BaSQj(s) = — 349 kcal/mol]
(1) +133.0 43 +2205

@) -1285  F@y -1330
iy

=
Match List - I wit:l?L:List -1I

List-I List-II
(Example) (Type of Solution)
A. Humidity =~ 1. Solid in solid
B.  Alloys wull.  Liquid in gas
C.  Amalgams ;i}m. Solid in gas
D. Smoke eIV, Liquid in solid

C.hoose the correct answer from the options
given below : o

(1) A-III, B-I, C-1V; D-II
(2) A-III, B-II, C-‘T:%D-IV
(3) A-IL BV, C.'D-1II
A-I1, B-I, C-1V, D-III

[ Contd~
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64  C(s)+2H,(g) - CH,(g); AH=-74.8 k) mol-!

Which of the foﬁgwing diagrams gives an
accurate representation of the above reaction?
[R — reactants; &—) products]

Energy

— R@hction progress

65 Sugar ‘X’ *:5’
A. is found in l-toqey
B. is a keto su

C. exists in O ar‘%d_ B - anomeric forms.
D.
X'is:

(1) MaltoseX
(3) D- Gluc&sq}( . D Fructose

48 English ]

is laevorotatc")a/.
=t

(2) Sucrose

13-

Total number of possible isomers (both
structural as well as stereoisomers) of cyclic
ethers of molecﬁlar formula C4H80 is

66

@ 10 (f) @ 1
3) 6 N @ 8
n
<

For the reggtlon A(g)—‘ZB(g)

backward reaqtlpn rate constant is higher than
the forward reaction rate constant by a factor

of 2500, at 1000 K.
[Given : R = 0;0831 L atm mol"l K]
Kp for the reagt”on at 1000 K is

@ 0.033 @ 0.021

(3) 83.1 () 2.077 % 10°

67

1545238

.The ratio of the wavelengths of the light
absorbed by a Hydrogen atom when it
undergoesn=2 —» n=3andn=4 — n=6
transitions, respectively, is

@3

‘@

68

1
M 3

16

5452344

If the molar conductivity (Am) of a
0.050 mol L-! solution of a monobasic weak
acid is 90 S cm® mol~!, its extent (degree) of
flissociation will be

™

69

[Assume A5 %96 Scm?2 mol-! and

Al =504S cmiﬁ'mol‘l ;
i ]

@) o225 H o 0.215
(3) 0.115 () 0.125

[ Contd...
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! | d radius of first Bohr ..
70 5 moles of liquid X and 10 moles of liquid Y | 74 Energy an ""3’ Orbit o

make a solution having a vapour pressure of

70 tort The vapoﬂ?:pressures of pure X and Y

are 63 torr and 7§orr respectively. Which of

the following is {e regarding the described

solution? ;;%

(1) The solutionds ideal.

(2) The solution;has volume greater than the
sum of individual volumes.

(3) The solution;shows positive deviation.
The solution shows negative deviation.

71  Among the following, choose the ones with

et
equal number of atoms.

A. 212 gof Naz(iégs (s) [molar mass = 106 g]
- B. 248 g of Na,O.(s) [molar mass = 62 g].

C. 240 g of NaOH (s) [molar mass = 40 g}

D. 12 gof H, (g)q'[_}r;nolar mass =2 g].

E.. 220 g of CO,(g) [molar mass = 44 g]

Choose the correct answer from the optic;ns
given below : 4

(1) B, C, and D only

. (2) B, D, and E only
3) A, B, and C only

A, B, and D*ghly

72  Which of the foll%ing are paramagnetic?

A. [Nicy]™ i3 B. Ni(CO),
. <

" [Ni(CN)4]2§ D. [mi(r,0), I
E. Ni(PPhs), *

Choose the correct answer from the Sptitns

iven below:
A and D only:#
) A, D and E odly

(3) A and C only*?
(4) B and E only- *
i
73  If the half-life (tl? for a first order reaction
is 1 minute, then the time required for 99.9%
completion of the reaction is closest to :
(1) 5 minutes 10 minutes
(3) 2 minutes (4) 4 minutes

in“"\

48_English |

75

14

76

He* and LiZ" agg,
[Given Ry = 2.18;:>< 107187, 89=52.9 5
(1) E(Liz") =319.62x10716J;
n iﬂ
r(LiZH=126pm
En(HéJr)‘ :gﬁﬁ.72x10‘16‘j;_
¢ (He?) =264 pm ,
(2) E (Li%") = "3.72x10-16 7,
r(Li2h=176 pm
E,(He") =-19.62x10716J;
rn(He+) =4 5.6 pm
@'En(Li2+) =41319.62x10-18 J;
3
r (Li2H) =07.6 om
E (He") =§g_8_72><]0* lg X
I'n(He"') = 236}4 pm B
@ En(Li2+) 3:'{872X10"-18 J;
rLiZh=264pm
.En(He+) =-19.62x10-18 j;
H -8
rn(I_Iﬁ—.-) =17.6 pm :
&

Among the giv;?:compounds I-111, the correct

order of bond dissociation en'e'tgy af C-H hond
marked with *{is:

;.

! ii} s
‘ P
H
I II I

M mw>us Q) I>1>1
@ U>1>mm @ 1>u>m
N

Dgx!tong Atomid theory could not explait
which of the fqgowing?
i

(1) Law of multiple proportion
Law of gasebus volume
(3) Lawof conservation of mass

() Law of constant proportion

[ Contd-
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77  Identify the correct orders against the property !_3__1 Which one of the following compounds does
mentioned o ' not decolourize bromine water?
A. H,0> NH; 2 CHCI3 — dipole moment e Cl
B. XecF,> Xth XeF, — numbler of lone O @—C IrCH,
- & ' pairs on centrdl atom T
2 NH
C. O-H> C—H’z%{ N-O - bond length @) @_ i‘i
D. N> 0, > Hj ~ bond enthalpy @ O uy.
Choose the corrogg answer from the options | . B
iven below : * :
@ A,Conly " (2) B, Conly @ (9 Qitg' '
A, D onl 4) B, D onl A ' ! G
g o5 Y 82  Predict the major product ‘P’ in the following
78  Match List I with List II. sequence of reactions - 7
List I - List II y. G HBr benzoyl peroxide -
(Name of ™ (Deficiency > A3 Gif KON _ S0 T
Vitamin) disease) ' g{? Na (Hg)/C,H;OH (Major)
A. Vitamin B, I.  Cheilosis t
B. Vitamin D 2‘;} II. Convulsions : c{;li’ U c
C. Vitamin By ML Rickets M _%-{ ) Olcna
D. Vitamin Bé e IV. Pernicious anaemia
Choose the correct answer from the options b
given below : CH CH,
(1) A-II, B-II, C-1, D-1V @ 4)
(2) A-1V,B-lI C-I, D1 CHLNH, CH,NH,
iiiAIBIIIC&DIV ;
A-1V, B-111, C-1, D-IT
@ = 83  Match List I with List II
79  The correct ordexwi~ decreasing basic strength ListI = . List II
of the given dmlﬁeils _ (Mixture)’} (Method of
-ethylethaﬁli n;e b> ethanamine > 5 Separation)
, Een";zg;ﬁ?:e';“zthan;“nge‘a;“'"e @S A. CHEL +§ I Distillation
N N-methylanifi“ﬁé‘e > N-ethylethanamine C6H5NH2__,{’} /> under reduced
3) N—methylanﬂ’l'igle > benzenamine > ol pressure
-ethanamine > N-ethylethanamine B. Crude oiLin II. Steam e
(4) N-ethylethanamine > ethanamine > petroleum distillation
benzenamin% N-methylaniline industry
e A . Glycerol fi : ior
80 The correct ordef*df the. wavelength of light g spg:ﬁze gm 3 glr:t(:;llaotr:z:l
lexes is,
absorbed kg f‘(ﬁowmg cen D. Aniline - x?f?fater IV. Simple
A. [ Co(NH3) 6]3’"} B. [CO(CN)6] : N distillation
Choose the c(grect answer from the options
c. [cu(H,0 M"} D. [ Ti(H,0) given below : g
h[ (h2 L] [f' " 6]t. . (1) A-III, B-1y; C-I, D-II
Civ(;:;s;etloiv f:orreict answer from the option A TII, B-LV; C-II, D-I
(gl) 2 Dok < B O < A EThSR A-1V, B-1I1§ C-1, D-II
(3) B<D<A<C B<A<D<C A-1V, B-1II, C-H, D-I,
?8_English ] ' 15 : [ Contd...
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84

85

86

. B.

Which among the following electronic

configurations belong to main group eIements"‘

\'*3

A. [Ne)3s' B. [Ar]3d%4s®
{

C. [Kr]4d'0§:;}5p5 D. [Ar]3d'%4s!

E. [Rn]5f° !@73

Choose the co‘f‘rec( answer from the option
given below -

(1) D and E‘only

(2) A, Cand D only

(3) B and E only

A and C-only

3
Which one of ] ‘the following compounds can
exist as ms-traﬁs isomers?
(1 1,1- Dlmethylcyclopropane
1 2-Dxme‘§ylcyclohexane
(3) Pent-1-enej
(4) 2-Methylhéx-2-ene

Phosphoric acid ionizes in three steps with
their 1omzat10n constant values

Ka] Ka, anl Ka3,respect|vely,

while K is the verall ionization constant.
Which of the kfo,llowmg statements are true?

A. logK= 15% K, +logK, +logK,_

: # . =
H3PO4 Isga stronger acid than H,POjp
and HPOZ™.

C. K, > K a,?? K
Ka‘é +K
D. Ky =55

Choose the cox;réct answer from the options
given below: i(}
(1) B, C and:D only
A, B and'C only
(3) A and B only
(4) A and C only

48_English ]
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87

88

Match List I with List II

List I - List II
(Ton) <t (Group Numbe,
&) in C?tion Analysis)
A. Cozfg L Grgup-l
B. Mgt II.  Group-III
C. Pb2* 4 1Il. , Group-IV
D. AB* IV. Group-VI

Choose fh%orrect answer from the options

given below:

) A-m,@-u, CIV,D-I .
@) A-ILBMI, C-1, D-IV
3) A-HI,E,IV,' E-JoD2t

A-m,“iif'-lv, C-I, D-II

Higher yield of NO in

Na(g) +'Ogg) = 2NO(g) can be
obtained ap )

[AH of th&ﬁeactlon = + 180.7 kJ mol™!]
Al highe:(tri;mperature

B. lower?qmperature L

C. higher concentration of N,
D. highel;:}:'oncentration of O,

Choose th&Rorrect answer from the options

given belom

(B, C, @onl)K

@ A, G, ‘D)only

3) A,D pqu
(4) B, C only

[ Contd-
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Given below are two statements :

Statement I : Benzenediazonium salt is

prepared by the reaction of aniline with nftrous
agid at 273 - 278 K. It decomposes easily in
the dry state.

Sthtement II : Insertion of iodine into the
Yenzene ring is difficult and hence
globenzene is prepared through the reaction
iﬁ}benzenediazonium salt with KI.

Tn'the light of the above statements, choose the
most appropriate answer from the options
given below :

Q’) Statement I is correct but Statement II
o is incorrect

(2) Statement I is incorrect but Statement II
¢\ s correct

Both Statement I and Statement II

are -correct

@ Both Statement 1 and Statement II
e are incorrect

The major product of the following reaction is:

s Q. (i) CH;MgBr
CN (excess) N
,. "(ii) Hy0"

H,C OH on

CH,

155452

. (@)
‘Q) @/u\/\ ( CH3
"o 0
=}

m CH; oH
=
iy CH; OH

@ ©></ﬁ O(CH:,,

48_English |
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